INDIAN SCHOOL MUSCAT

MIDDLE SECTION

CLASS Vil
PORTIONS & BLUE PRINT FOR THIRD PERIODIC TEST 2023-24
Objective Very Short Total
Type Short Answer marks
Subject Topic Mcq Question Answer Question
Y or Question 2 marks
Imark 1 mark
1. Reading - 1 Unseen passage for comprehension
2. Literature — 1. The Send-off 2. Haroun Meets Iff
3.  Grammar — Phrases and Clauses
1 unseen passage for 1(1) 4 (*2) 2(1) 5
comprehension
Grammar- Phrases and | 4 (%) 8 (¥2) 2(1) 8
Clauses
Reference to Context 2 (%2) 2(1) 2
ENGLISH
Short answer questions 1(2) 2
Meanings 2 (%2) 1
Miscellaneous exercise 2 (Y2) 1
(Antonym/True or False/
Fill in the blanks/Give one
word)
Total 9(05) 14 (07) 6(06) 1(02) 20
Please note: The number of questions are given outside brackets. Marks are given in brackets.
Lesson 11 &Lesson 12 of Book 3- Apprenons le francgais
1. Répondez aux questions 1*2=2
LA COMPREHENSION 2. Dites Vrai ou Faux 1*2 =2
ECRITE 3. Donnez le contraire/ I'infinitif 1*2=2 !
I LANG
FRENCH 4.Complétez avec les mots du texte 1*1=1
L’EXPRESSION ECRITE 5. le vocabulaire (FIB) 1*5=5 5
6. Trouvez les questions 1*3 =3
LA GRAMMAIRE 7. Conjuguez au passé compose avec avoir 1*3 =3 8
8. Conjuguez au passé compose avec étre 1*2 =2
TOTAL 20




SLMo: | Topic Number of Marks Types of Question | Total Marks
Cuestions
1 s 2 1 MCQ 2X1=2
2 Wlnk ¥ 2 1 MCO 2¥1=2
3 aqpmldeisng 2 1 MCCQ 2¥1 =2
4 afloloaleym]e 2 1 VSA 2X1=2
5 ALY EITL 1 1 VSA 1X1=1
B UHTIOTE DO 2 1 MCQO 2¥X1=2
(EM0320W0  avlom]s
DTSSR ) =
I LANG 7 A0y 2 1 VSA 2X1=2
MALAYALAM 8 IO 2 1 VSA 2X1=2
g EalD@E) TR 1 3 LA 1%X3=3
10 (IGDIs BID) 2 1 SA 2X1=2
TOTAL 18 20
aloosmaud
1. Dam0aj)
2 |[alCaiod.
SNO TOPIC Objective Very Short Total
Type answer
Questions 1 Mark
Y2 or 1 Mark
' | Grammar
1. Fu T gt & gEve AR U SR St R | 8 (%) 10
Bx}2=3 m)
| LANG 2. 5w MO 9 & A fEremm @i (2m) 7(1)
8. Tou 0 Al 7 AET AW & 9 e 2 m)
HINDI & . TR AT 0 SET-4 MCQ  (3m)
2 | Literature 51) 5(1) 10
TS - @Ak @l afaat
1. Ted T ¥ (3 m)
2. e 21 & 0 7T fweT g ™ 2 m)
8. Ul AFT AAET (2m)
4. UF U a9 7 3797 (3 m)
Total ex(2)H12x(1)= 5x(1)=5 20
15




I LANG
HINDI

SNO

TOPIC

Objective
Type
Questions
1 Mark

Very Short

Questions
2 Marks

Total

Grammar

1. o o awE A R s e Tee | 2 m)
2 i =T @ OfF w81 e fasmm s gear @faw | ¥ 3 m)
3 Tia ==t &1 g =81 999 s dea g AT 17 (2m)
s T AR gETT SET4 MCQ (3m)

10 (1)

10

Literature
U - 99

1. &l a1 T (2 m)

2 e = & oo =8 s gio ) Y 2m)
3_ foT qeann (2m)

&. U UF a8 § 307 (4 m)

4(1)

10

Total

14x(1)=14

2x(2)=4

20

I LANG

SANSKRIT

SNO

TORIC

Objective
Type
Questions
1 mark

Total

Grammar

TFa ar=x:

1. RepeaeTgfct FHea
2 a1 ATAT
3. FAEaviEa

(4m)
(3m)
(3m)

10{1)

10

Literature
TSIATAT: FoAH
1.Uhdc 3Tid

2 Uahdlaied 3aid

3. S e aRA 3Ta
A4 g9

5. RehearaTer 939d

(2m)
(2m)
(2m)
(2m)
(2m)

10{1)

10

Total

20x (1) =20

20




Objective | Very Short
SNO TOPIC Type Answer Total
Questions Question
Mew Arabic course Book 3
1.Lesson 7 Vocabulary,
Lesson translation, Exercise
1,2,3and 8
2. Lesson 8 Vocabulary only
1 LANG
ARABIC 3. Worksheet No - 9
1 Vocabulary SR 4 4
2 Prohibitive verbs el 2 2
3 Fill in the blanks &5l 5| 4 4
4 Translation ian s 3 3
5 Conjugation of prohibitive s 2 2
verb
B Select correct sentence rmia g faal 2 2
7 Answer the following it dlil o 3 3
| Total 3 12 20
Short Long Case
TOPI Very short type answer Answers study
OPIC (1 MARK EACH) type type questions | Total
(2 marks | (3 MARKS | (3 MARKS
each) EACH) EACH)
FIB | MCQ Assertl_ve
MATHS reasoning
LINEAR
EQUATIONS IN
1 | ONE VARIABLE 1 1 1 1 1 8
(EX 2.3, EX 2.5)
COMPARING
2 | QUANTITIES 1 1 2 1 1 12
Total 5(1) 3(2) 2(3) 1(3) 20
| True/Fal Very Short Short Total
Topic MCQ se Answer Answer
Imark 1mark 2marks Marks
1 mark
1 SOUND 3(1) 2(1) 2(1) 2(2) 11
SCIENCE
2 CHEMICAL 3(1) 2(1) 2(1) 1(2) 09
EFFECTS OF
ELECTRIC
CURRENT
Total 6(1) 4(1) 4(1) 3(2) 20




Objective Type

Very Short
. Questions/ MCQ/ Answer Long Answer Total
Topic ; Questions
True-False/Match the | Questions (3 marks) Marks
Following (1 mark) |1 marks
SOCIAL WOMEN CASTE AND
SCIENCE REFORMS 5(1) 2 (1) 2 (3) 13
UNDERSTANDING
MARGINALIZATION 5 (1) 2 (1) i 7
Total 10x1=10 4x1=4 2x3=6 20




